Publ. Math. Debrecen 57 / 1-2 (2000), 217–230

# Equality of Cauchy mean values

By LÁSZLÓ LOSONCZI (Kuwait)

**Abstract.** The Cauchy Mean Value Theorem for divided differences (see e.g. [2]) states the following:

Suppose that  $x_1 \leq \cdots \leq x_n$  and  $f^{(n-1)}$ ,  $g^{(n-1)}$  exist, with  $g^{(n-1)} \neq 0$ , on  $[x_1, x_n]$ . Then there is a  $t \in [x_1, x_n]$  (moreover  $t \in (x_1, x_n)$  if  $x_1 < x_n$ ) such that

$$\frac{[x_1, \dots, x_n]_f}{[x_1, \dots, x_n]_g} = \frac{f^{(n-1)}(t)}{g^{(n-1)}(t)}$$

where  $[x_1, \ldots, x_n]_f$  denotes the divided difference of f at the points  $x_1, \ldots, x_n$ .

If the function  $\frac{f^{(n-1)}}{g^{(n-1)}}$  is invertible then

$$t = \left(\frac{f^{(n-1)}}{g^{(n-1)}}\right)^{-1} \left(\frac{[x_1, \dots, x_n]_f}{[x_1, \dots, x_n]_g}\right)$$

is a mean value of  $x_1, \ldots, x_n$ . It is called the *Cauchy mean of the numbers*  $x_1, \ldots, x_n$  and will be denoted by  $D_{f,q}(x_1, \ldots, x_n)$ .

Here we solve the equality problem of Cauchy means for  $n\geq 3$  i.e. we solve the functional equation

$$D_{f,g}(x_1, x_2, \dots, x_n) = D_{F,G}(x_1, x_2, \dots, x_n) \qquad (x_1, x_2, \dots, x_n \in I)$$

under differentiability conditions.

## 1. Introduction

As it is well known, the Cauchy mean value theorem of the differential calculus states the following.

Mathematics Subject Classification: 39B22.

Key words and phrases: Cauchy mean value, divided differences.

This research has been supported by Kuwait University Grant SM04/99.

If f, g are continuous real functions on  $[x_1, x_2]$  which are differentiable in  $(x_1, x_2)$ , and  $g'(u) \neq 0$  for  $u \in (x_1, x_2)$  then there is a point  $t \in (x_1, x_2)$ such that

$$\frac{f'(t)}{g'(t)} = \frac{f(x_2) - f(x_1)}{g(x_2) - g(x_1)}.$$

Assuming now that  $\frac{f'}{g'}$  is invertible we get

$$t = \left(\frac{f'}{g'}\right)^{-1} \left(\frac{f(x_2) - f(x_1)}{g(x_2) - g(x_1)}\right).$$

This number t is called the Cauchy mean value of the numbers  $x_1, x_2$  and will be denoted by  $t = D_{f,g}(x_1, x_2)$ .

It is possible to define the Cauchy mean value for several variables. To do so we need a mean value theorem for divided differences.

For a function  $f : I \to \mathbb{R}$ , I being a real interval, the divided differences of f on *distinct* points  $x_i \in I$  are usually defined inductively by

$$[x_1]_f := f(x_1),$$
$$[x_1, \dots, x_n]_f := \frac{[x_1, \dots, x_{n-1}]_f - [x_2, \dots, x_n]_f}{x_1 - x_n} \quad (n = 2, 3, \dots)$$

(see e.g. AUMANN and HAUPT [1] §3.17, their expression contains an extra factor n - 1 on the right).

This definition must be modified if two or more points of  $[x_1, \ldots, x_n]_f$  coincide: if at most r points  $x_i$  coincide, the definition is then framed on the assumption that f is (r-1)-times differentiable on I. In the case n = 2 for example we obtain

$$[x_1, x_2]_f := \begin{cases} \frac{f(x_1) - f(x_2)}{x_1 - x_2} & (x_1 \neq x_2), \\ f'(x_1) & (x_1 = x_2). \end{cases}$$

A full definition, as the ratio of two determinants, can be found in SCHU-MAKER [7].

Some basic properties of the divided differences are as follows:

(1) A divided difference  $[x_1, \ldots, x_n]_f$  is independent of the order of its arguments  $x_1, \ldots, x_n$ .

- (2) The second line of the above inductive definition remains valid provided only that  $x_1 \neq x_n$ .
- (3) A divided difference is a linear functional, i.e. we have

$$[x_1, \dots, x_n]_{af+bg} = a[x_1, \dots, x_n]_f + b[x_1, \dots, x_n]_g$$

for arbitrary constants a, b and arbitrary (suitably differentiable) functions f, g.

(4) (Mean value theorem) If f is (n-1)-times differentiable on I and  $x_i \in I$  (i = 1, ..., n), then there is a t between the smallest and largest  $x_i$  (strictly between if the  $x_i$  are not all the same) such that

$$[x_1, \dots, x_n]_f = \frac{f^{(n-1)}(t)}{(n-1)!}$$

(5) The "Leibniz rule" for divided differences

$$[x_1, \dots, x_n]_{fg} = \sum_{i=1}^n [x_1, \dots, x_i]_f \cdot [x_i, \dots, x_n]_g.$$

(6) The rule of adding an extra point to a divided difference:

$$[x_2, \dots, x_n]_g = [x_1, \dots, x_n]_h, \quad h(x) := (x - x_1)g(x)_h$$

(7) Differentiation with respect to a singly-occurring entry results in a repetition of that entry

$$\frac{d}{dx_k}[x_1,\ldots,x_n]_f = [x_1,\ldots,x_n,x_k]_f \quad (k=1,\ldots,n).$$

- (8) If  $f^{(n-1)}$  is continuous then  $[x_1, \ldots, x_n]_f$  is a continuous function of  $(x_1, \ldots, x_n)$ .
- (9) If f is analytic then  $[x_1, \ldots, x_n]_f$  is analytic in  $(x_1, \ldots, x_n)$ .

The following mean value theorem (the Cauchy mean value theorem for divided differences) is due to LEACH and SHOLANDER [2] (see also RÄTZ and RUSSELL [6], PÁLES [4], [5]).

**Theorem LS.** Let  $x_1 \leq \cdots \leq x_n$  and assume that  $f^{(n-1)}$ ,  $g^{(n-1)}$  exist, with  $g^{(n-1)}(u) \neq 0$ , on  $[x_1, x_n]$ . Then there is a  $t \in [x_1, x_n]$  (moreover  $t \in (x_1, x_n)$  if  $x_1 < x_n$ ) such that

$$\frac{[x_1, \dots, x_n]_f}{[x_1, \dots, x_n]_g} = \frac{f^{(n-1)}(t)}{g^{(n-1)}(t)}$$

Supposing that the function  $u \to \frac{f^{(n-1)}(u)}{g^{(n-1)}(u)}$  is invertible we get that

$$t = \left(\frac{f^{(n-1)}}{g^{(n-1)}}\right)^{-1} \left(\frac{[x_1, \dots, x_n]_f}{[x_1, \dots, x_n]_g}\right)$$

is a mean value of  $x_1, \ldots, x_n$  which, by property (1), is symmetric in its variables. It is called the *Cauchy (or difference) mean of the numbers*  $x_1, \ldots, x_n$  and will be denoted by  $D_{f,g}(x_1, \ldots, x_n)$ . This mean value was first defined and examined by LEACH and SHOLANDER [2] (they called it *extended* (f, g) mean of  $x_1, \ldots, x_n$ ).

The aim of this paper is to solve the functional equation (the equality problem of Cauchy means)

$$D_{f,g}(x_1,...,x_n) = D_{F,G}(x_1,...,x_n)$$
  $(x_1,...,x_n \in I)$ 

if  $n \geq 3$  is fixed.

The equality problem of two variable Cauchy means is much harder than the present one since for n = 2 the third derivative of the functional equation does not give an independent equation. This problem is comparable to the two variable equality problem for Gini means, solved by the author [3].

## 2. The main result

Our main result is

**Theorem 1.** Suppose that I is a real interval,  $n \ge 3$  is a fixed natural number,

(i)  $f, g, F, G: I \to \mathbb{R}$  are n+2 times continuously differentiable on I,

(ii) 
$$g^{(n-1)}(u) \neq 0, \ G^{(n-1)}(u) \neq 0$$
 for  $u \in I$  and

(iii) the functions  $\frac{f^{(n-1)}}{g^{(n-1)}}$ ,  $\frac{F^{(n-1)}}{G^{(n-1)}}$  have non-vanishing first derivative on I.

The functional equation

(1) 
$$D_{f,g}(x_1, x_2, \dots, x_n) = D_{F,G}(x_1, x_2, \dots, x_n) \quad (x_1, x_2, \dots, x_n \in I)$$

holds if and only if there exist constants  $\alpha$ ,  $\beta$ ,  $\gamma$ ,  $\delta$  with  $\alpha\delta - \beta\gamma \neq 0$  such that for all  $x \in I$ 

(2) 
$$\begin{cases} f^{(n-1)}(x) = \alpha F^{(n-1)}(x) + \beta G^{(n-1)}(x) \\ g^{(n-1)}(x) = \gamma F^{(n-1)}(x) + \delta G^{(n-1)}(x) \end{cases}$$

is satisfied.

Remark 1. The conditions (ii) and (iii) impose further restrictions on the constants  $\alpha$ ,  $\beta$ ,  $\gamma$ ,  $\delta$  which we do not specify here.

Remark 2. We need to assume (1) only for the values  $x_1, x_2 \in [x - \epsilon, x + \epsilon] \cap I$ ,  $x_3 = \cdots = x_n = x$  for all  $x \in I$  where  $\epsilon$  is a positive number.

Remark 3. Condition (iii) implies that the functions  $\frac{f^{(n-1)}}{g^{(n-1)}}$ ,  $\frac{F^{(n-1)}}{G^{(n-1)}}$  are invertible on I. The derivative of either ratio cannot have both positive and negative values by the intermediate value property of the derivative. Any of these ratios is either positive or negative on I hence it is strictly monotonic therefore invertible.

To prove the necessity of (2) we deduce a system of differential equations for the unknown functions f, g, F, G and solve it.

Our calculations will be simpler if we use an integral representation of divided differences equivalent to the one given by STEFFENSON [8, p. 17]:

$$[x_1, \dots, x_n]_f = \int_{S_{n-1}} f^{(n-1)}(t) \, d\mu$$

where

$$S_{n-1} := \left\{ \mu = (\mu_1, \dots, \mu_{n-1}) : \mu_k \ge 0, \ k = 1, \dots, n-1 \text{ and } \sum_{k=1}^{n-1} \mu_k \le 1 \right\}$$

is a simplex in  $\mathbb{R}^{n-1}$  and

$$t = x_n + \sum_{k=1}^{n-1} \mu_k (x_k - x_n) = \sum_{k=1}^{n-1} \mu_k x_k + \left(1 - \sum_{k=1}^{n-1} \mu_k\right) x_n.$$

The corresponding formula in [8] uses the variables  $t_1, \ldots, t_n$ , with  $t_k = 1 - \sum_{j=1}^k \mu_j$ .

Using this we have

(3) 
$$D_{f,g}(x_1,\ldots,x_n) = \left(\frac{f^{(n-1)}}{g^{(n-1)}}\right)^{-1} \left(\frac{\int\limits_{S_{n-1}} f^{(n-1)}(t) \, d\mu}{\int\limits_{S_{n-1}} g^{(n-1)}(t) \, d\mu}\right).$$

First we calculate some partial derivatives of  $D_{f,g}$ . Suppressing the dependence from f, g let us introduce the simplified notation

$$M(x_1, x_2, \dots, x_n) = D_{f,g}(x_1, x_2, \dots, x_n) = h^{-1} \left( R(x_1, x_2, \dots, x_n) \right)$$

where  $h = \frac{f^{(n-1)}}{g^{(n-1)}}, R = \frac{K}{L}$ ,

$$K(x_1, x_2, \dots, x_n) = \int_{S_{n-1}} f^{(n-1)} \left( x_n + \sum_{k=1}^{n-1} \mu_k(x_k - x_n) \right) d\mu,$$
$$L(x_1, x_2, \dots, x_n) = \int_{S_{n-1}} g^{(n-1)} \left( x_n + \sum_{k=1}^{n-1} \mu_k(x_k - x_n) \right) d\mu$$

and  $\mu = (\mu_1, \dots, \mu_{n-1}).$ 

Let us denote the partial derivatives of  $M(x_1, x_2, \ldots, x_n)$  with respect to  $x_1, x_1x_1$  etc. at the point  $(x, x, \ldots, x)$  by  $M_{x_1}, M_{x_1^2}$  etc. respectively. Then we have

Lemma 1. Suppose that (i), (ii), (iii) and (1) hold then we have

$$nM_{x_1} = 1,$$

$$\frac{n^2(n+1)}{n-1}M_{x_1^2} = \frac{h''}{h'} + 2\frac{g^{(n)}}{g^{(n-1)}},$$

$$n^3(n+1)(n+2)M_{x_1^2x_2} = (n^2 - 3n - 2)\frac{h'''}{h'} + (-n^2 + n + 6)\left(\frac{h''}{h'}\right)^2$$

$$+ (-6n + 12)\frac{h''}{h'}\frac{g^{(n)}}{g^{(n-1)}} + (-2n^2 + 2n + 12)\left(\frac{g^{(n)}}{g^{(n-1)}}\right)^2$$

$$+ (2n^2 - 8n)\frac{g^{(n+1)}}{g^{(n-1)}}$$

where all derivatives of h, g are taken at the point x.

**PROOF.** We start with the formulae

$$M_{x_{1}} = (h^{-1})'(R)R_{x_{1}},$$

$$M_{x_{1}^{2}} = (h^{-1})''(R)R_{x_{1}}^{2} + (h^{-1})'(R)R_{x_{1}^{2}},$$

$$M_{x_{1}^{2}x_{2}} = (h^{-1})'''(R)R_{x_{2}}R_{x_{1}}^{2} + 2(h^{-1})''(R)R_{x_{1}}R_{x_{1}x_{2}}$$

$$+ (h^{-1})''(R)R_{x_{2}}R_{x_{1}^{2}} + (h^{-1})'(R)R_{x_{1}^{2}x_{2}}$$

where R and its partial derivatives  $R_{x_1}, R_{x_2}$  etc. are taken at the point  $(x, x, \ldots, x)$ . Since

$$(h^{-1})' = \frac{1}{h'(h^{-1})},$$
  

$$(h^{-1})'' = -\frac{h''(h^{-1})}{(h'(h^{-1}))^3},$$
  

$$(h^{-1})''' = -\frac{h'''(h^{-1})}{(h'(h^{-1}))^4} + 3\frac{(h''(h^{-1}))^2}{(h'(h^{-1}))^5}$$

we have

(4) 
$$\begin{cases} M_{x_1} = \frac{1}{h'} R_{x_1}, \\ M_{x_1^2} = -\frac{h''}{(h')^3} R_{x_1}^2 + \frac{1}{h'} R_{x_1^2}, \\ M_{x_1^2 x_2} = \left( -\frac{h'''}{(h')^4} + 3\frac{(h'')^2}{(h')^5} \right) R_{x_2} R_{x_1}^2 \\ - \frac{h''}{(h')^3} \left( 2R_{x_1} R_{x_1 x_2} + R_{x_1^2} R_{x_2} \right) + \frac{1}{h'} R_{x_1^2 x_2} \end{cases}$$

where the derivatives of h have to be taken at  $h^{-1}(R(x, x, ..., x)) = M(x, x, ..., x) = x$ .

As  $R = \frac{K}{L}$ , the derivatives  $R_{x_1}$ ,  $R_{x_2}$ ,  $R_{x_1^2}$ ,  $R_{x_1x_2}$ ,  $R_{x_1^2x_2}$  are rational functions of K, L and their partial derivatives. For example

(5) 
$$R_{x_1^2} = \frac{K_{x_1^2}L^2 - KLL_{x_1^2} - 2K_{x_1}LL_{x_1} + 2KL_{x_1}^2}{L^3}$$

Using the integral formulae of Section 2 and differentiating behind the integral sign (k times with respect to  $x_1$  and l times with respect to  $x_2$ ) we have

$$K_{x_1^k x_2^l}(x, x, \dots, x) = f^{(n+k+l-1)}(x) \int_{S_{n-1}} \mu_1^k \mu_2^l \, d\mu.$$

It is easy to check that for any continuous function p

$$\int_{S_{n-1}} p(\mu_1, \mu_2) d\mu = \int_0^1 \int_0^{1-\mu_1} \cdots \int_0^{1-\mu_1-\dots-\mu_{n-2}} p(\mu_1, \mu_2) d\mu_{n-1} \dots d\mu_2 d\mu_1$$
$$= \int_0^1 \int_0^{1-\mu_1} p(\mu_1, \mu_2) \frac{(1-\mu_1-\mu_2)^{n-3}}{(n-3)!} d\mu_2 d\mu_1.$$

Hence we obtain that

$$K(x, x, \dots, x) = \frac{f^{(n-1)}(x)}{(n-1)!}, \qquad K_{x_1}(x, x, \dots, x) = \frac{f^{(n)}(x)}{n!},$$
$$K_{x_2}(x, x, \dots, x) = \frac{f^{(n)}(x)}{n!}, \qquad K_{x_1x_2}(x, x, \dots, x) = \frac{f^{(n+1)}(x)}{(n+1)!},$$
$$K_{x_1^2}(x, x, \dots, x) = 2\frac{f^{(n+1)}(x)}{(n+1)!}, \qquad K_{x_1^2x_2}(x, x, \dots, x) = 2\frac{f^{(n+2)}(x)}{(n+2)!}.$$

We obtain analogous expressions for L and its derivatives. Substituting these and  $f^{(n-1)} = hg^{(n-1)}$ ,  $f^{(n)} = h'g^{(n-1)} + hg^{(n)}$  etc. into (5) we obtain that

$$R_{x_1^2} = \frac{2}{n(n+1)}h'' + \frac{2(n-1)}{n^2(n+1)}h'\frac{g^{(n)}}{g^{(n-1)}}.$$

In a similar way we find that

$$R_{x_1} = R_{x_2} = \frac{1}{n}h',$$
  
$$R_{x_1x_2} = \frac{1}{n(n+1)}h'' - \frac{2}{n^2(n+1)}h'\frac{g^{(n)}}{g^{(n-1)}},$$

Equality of Cauchy mean values

$$\begin{split} R_{x_1^2 x_2} &= \frac{2}{n(n+1)(n+2)} h^{\prime\prime\prime} - \frac{2n^2 - 8n}{n^3(n+1)(n+2)} \left( h^{\prime\prime} \frac{g^{(n)}}{g^{(n-1)}} + h^\prime \frac{g^{(n+1)}}{g^{(n-1)}} \right) \\ &\quad + \frac{-2n^2 + 2n + 12}{n^3(n+1)(n+2)} h^\prime \left( \frac{g^{(n)}}{g^{(n-1)}} \right)^2. \end{split}$$

Substituting these expressions into (4) we obtain the statement of Lemma 1.

The calculations presented in Lemma 1 were partially checked by the software package Maple V.  $\hfill \Box$ 

**Lemma 2.** Suppose that (i), (ii), (iii) and (1) hold then for all  $u \in J := \{H(x) : x \in I\}$  we have

(6) 
$$\frac{\tilde{h}''(u)}{\tilde{h}'(u)} + 2\frac{\tilde{g}'(u)}{\tilde{g}(u)} = 2\frac{\tilde{G}'(u)}{\tilde{G}(u)}$$

(7) 
$$\begin{cases} (n^2 - 3n - 2)\frac{\tilde{h}'''(u)}{\tilde{h}'(u)} + (-n^2 + n + 6)\left(\frac{\tilde{h}''(u)}{\tilde{h}'(u)}\right)^2 \\ + (-6n + 12)\frac{\tilde{h}''(u)}{\tilde{h}'(u)}\frac{\tilde{g}'(u)}{\tilde{g}(u)} \\ + (-2n^2 + 2n + 12)\left(\frac{\tilde{g}'(u)}{\tilde{g}(u)}\right)^2 + (2n^2 - 8n)\frac{\tilde{g}''(u)}{\tilde{g}(u)} \\ = (-2n^2 + 2n + 12)\left(\frac{\tilde{G}'(u)}{\tilde{G}(u)}\right)^2 + (2n^2 - 8n)\frac{\tilde{G}''(u)}{\tilde{G}(u)} \end{cases}$$

where

(8) 
$$\tilde{h} := h(H^{-1}), \quad \tilde{g} := g^{(n-1)}(H^{-1}), \quad \tilde{G} = G^{(n-1)}(H^{-1}).$$

**PROOF.** By Lemma 1 the equation (1) implies that for all  $x \in I$ 

(9) 
$$\frac{h''(x)}{h'(x)} + 2\frac{g^{(n)}(x)}{g^{(n-1)}(x)} = \frac{H''(x)}{H'(x)} + 2\frac{G^{(n)}(x)}{G^{(n-1)}(x)}$$

$$(10) \begin{cases} (n^2 - 3n - 2) \frac{h'''(x)}{h'(x)} + (-n^2 + n + 6) \left(\frac{h''(x)}{h'(x)}\right)^2 \\ + (-6n + 12) \frac{h''(x)}{h'(x)} \frac{g^{(n)}(x)}{g^{(n-1)}(x)} \\ + (-2n^2 + 2n + 12) \left(\frac{g^{(n)}(x)}{g^{(n-1)}(x)}\right)^2 \\ + (2n^2 - 8n) \frac{g^{(n+1)}(x)}{g^{(n-1)}(x)} \\ = (n^2 - 3n - 2) \frac{H'''(x)}{H'(x)} + (-n^2 + n + 6) \left(\frac{H''(x)}{H'(x)}\right)^2 \\ + (-6n + 12) \frac{H''(x)}{H'(x)} \frac{G^{(n)}(x)}{G^{(n-1)}(x)} \\ + (-2n^2 + 2n + 12) \left(\frac{G^{(n)}(x)}{G^{(n-1)}(x)}\right)^2 \\ + (2n^2 - 8n) \frac{G^{(n+1)}(x)}{G^{(n-1)}(x)} \end{cases}$$

From (8) we obtain that

$$\begin{split} \tilde{\tilde{h}}''_{\tilde{h}'} &= \frac{1}{H'(H^{-1})} \left[ \frac{h''(H^{-1})}{h'(H^{-1})} - \frac{H''(H^{-1})}{H'(H^{-1})} \right], \\ \tilde{\tilde{h}}'''_{\tilde{h}'} &= \frac{1}{(H'(H^{-1}))^2} \left[ \frac{h'''(H^{-1})}{h'(H^{-1})} - 3\frac{h''(H^{-1})}{h'(H^{-1})} \frac{H''(H^{-1})}{H'(H^{-1})} \right], \\ &- \frac{H'''(H^{-1})}{H'(H^{-1})} + 3\left( \frac{H''(H^{-1})}{H'(H^{-1})} \right)^2 \right], \\ \\ \tilde{g}''_{\tilde{g}} &= \frac{1}{(H'(H^{-1}))^2} \left[ \frac{g^{(n+1)}(H^{-1})}{g^{(n-1)}(H^{-1})} - \frac{g^{(n)}(H^{-1})}{g^{(n-1)}(H^{-1})} \frac{H''(H^{-1})}{H'(H^{-1})} \right], \\ \\ \\ \tilde{G}''_{\tilde{G}} &= \frac{1}{(H'(H^{-1}))^2} \left[ \frac{G^{(n+1)}(H^{-1})}{G^{(n-1)}(H^{-1})} - \frac{G^{(n)}(H^{-1})}{G^{(n-1)}(H^{-1})} \frac{H''(H^{-1})}{H'(H^{-1})} \right]. \end{split}$$

Substituting these expressions into (6) and (7), multiplying the first equa-

tion by  $H'(H^{-1})$  the second by  $(H'(H^{-1}))^2$  we obtain, after some calculations, exactly (9) and (10) at the point  $x = H^{-1}(u)$ . We remark that in case of (7) we have to use, during the calculations, also (9). This shows that (6), (7) and (9), (10) are equivalent by the transformation (8) (and its inverse), proving Lemma 2.

Now we can prove our main result.

PROOF. Necessity. If (1) holds then by Lemma 2 (6) and (7) are satisfied. We shall solve this system of equations. Using (6) we get

$$\frac{\tilde{G}''}{\tilde{G}} = \left(\frac{\tilde{G}'}{\tilde{G}}\right)' + \left(\frac{\tilde{G}'}{\tilde{G}}\right)^2 = \left(\frac{\tilde{h}''}{2\tilde{h}'} + \frac{\tilde{g}'}{\tilde{g}}\right)' + \left(\frac{\tilde{h}''}{2\tilde{h}'} + \frac{\tilde{g}'}{\tilde{g}}\right)^2 \\
= \frac{1}{2}\frac{\tilde{h}'''}{\tilde{h}'} - \frac{1}{4}\left(\frac{\tilde{h}''}{\tilde{h}'}\right)^2 + \frac{\tilde{h}''}{\tilde{h}'}\frac{\tilde{g}'}{\tilde{g}} + \frac{\tilde{g}''}{\tilde{g}}.$$

Substituting this into (7) we obtain that

(11) 
$$2\frac{\tilde{h}''}{\tilde{h}'} - 3\left(\frac{\tilde{h}''}{\tilde{h}'}\right)^2 = 0$$

With the notation  $w(u) = \frac{\tilde{h}''(u)}{\tilde{h}'(u)}$   $(u \in J)$  we can rewrite the last equation in the form

$$2w' - w^2 = 0.$$

The solutions of this separable equation are  $w(u) = -\frac{2}{u+c}$  where c is an arbitrary constant and w(u) = 0. From

$$\frac{\tilde{h}''(u)}{\tilde{h}'(u)} = (\ln |h'(u)|)' = w(u) = \begin{cases} -\frac{2}{u+c} \\ 0 \end{cases}$$

by integration

(12) 
$$\tilde{h}(u) = \begin{cases} \frac{e}{u+c} + d\\ au+b \end{cases} = \frac{Au+B}{Cu+D} \qquad (u \in J)$$

where A, B, C, D are arbitrary constants.

Rewriting equation (6) in the form

$$\left(\ln\left|\frac{\tilde{G}(u)}{\tilde{g}(u)}\right|\right)' = \frac{1}{2}\frac{\tilde{h}''(u)}{\tilde{h}'(u)} = \frac{1}{2}w(u) = \begin{cases} -\frac{C}{Cu+D} & \text{if } C \neq 0\\ 0 & \text{if } C = 0 \end{cases}$$

we get by integration that

(13) 
$$\frac{\tilde{G}(u)}{\tilde{g}(u)} = \frac{P}{Cu+D} \quad (u \in J)$$

where  $P \neq 0$  is a constant. From (12), (13) by  $h = \frac{f^{(n-1)}}{g^{(n-1)}}$ ,  $H = \frac{F^{(n-1)}}{G^{(n-1)}}$ and (8) we obtain that

$$\frac{f^{(n-1)}(x)}{g^{(n-1)}(x)} = \frac{AH(x) + B}{CH(x) + D} = \frac{AF^{(n-1)}(x) + BG^{(n-1)}(x)}{CF^{(n-1)}(x) + DG^{(n-1)}(x)},$$
$$\frac{G^{(n-1)}(x)}{g^{(n-1)}(x)} = \frac{P}{CH(x) + D} = \frac{PG^{(n-1)}(x)}{CF^{(n-1)}(x) + DG^{(n-1)}(x)}$$

From the last equation

$$g^{(n-1)}(x) = \frac{C}{P}F^{(n-1)}(x) + \frac{D}{P}G^{(n-1)}(x) = \gamma F^{(n-1)}(x) + \delta G^{(n-1)}(x)$$

and using this

$$f^{(n-1)}(x) = \frac{A}{P}F^{(n-1)}(x) + \frac{B}{P}G^{(n-1)}(x) = \alpha F^{(n-1)}(x) + \beta G^{(n-1)}(x)$$

proving (2).

Here the constants have to satisfy  $\alpha\delta-\beta\gamma\neq 0$  otherwise  $rac{f^{(n-1)}}{g^{(n-1)}}$  would be a constant and not invertible.

To prove the sufficiency of (2) we notice that

$$h = \frac{f^{(n-1)}}{g^{(n-1)}} = \frac{\alpha F^{(n-1)} + \beta G^{(n-1)}}{\gamma F^{(n-1)} + \delta G^{(n-1)}} = \frac{\alpha H + \beta}{\gamma H + \delta}$$
$$h^{-1}(u) = H^{-1}\left(\frac{\delta u - \beta}{\alpha - \gamma u}\right).$$

therefore

Thus, using the representation (2) we get with  $u = \frac{K}{L}$ 

$$D_{f,g}(x_1, x_2, \dots, x_n) = h^{-1}(u) = H^{-1}\left(\frac{\delta \frac{K}{L} - \beta}{\alpha - \gamma \frac{K}{L}}\right) = H^{-1}\left(\frac{\delta K - \beta L}{\alpha L - \gamma K}\right)$$

and

$$\frac{\delta K - \beta L}{\alpha L - \gamma K} = \frac{\int\limits_{S_{n-1}} (\delta f^{(n-1)}(t) - \beta g^{(n-1)}(t)) d\mu}{\int\limits_{S_{n-1}} (\alpha g^{(n-1)}(t) - \gamma f^{(n-1)}(t)) d\mu} = \frac{\int\limits_{S_{n-1}} F^{(n-1)}(t) d\mu}{\int\limits_{S_{n-1}} G^{(n-1)}(t) d\mu}.$$

Hence

$$D_{f,g}(x_1, x_2, \dots, x_n) = H^{-1} \left( \frac{\int G^{(n-1)}(t) \, d\mu}{\int G^{(n-1)}(t) \, d\mu} \right)$$
$$= D_{F,G}(x_1, x_2, \dots, x_n).$$

#### 3. Closing remarks

It is worth to specify our result for n = 3 since in this case the regularity conditions of Theorem 1 are the weakest.

**Theorem 2.** Suppose that I is a real interval,

- (i)  $f, g, F, G: I \to \mathbb{R}$  are five times continuously differentiable,
- (ii)  $g''(u) \neq 0, G''(u) \neq 0$  and
- (iii) the functions  $\frac{f''}{g''}$ ,  $\frac{F''}{G''}$  have non-vanishing first derivative on I. The functional equation

(14) 
$$D_{f,g}(x_1, x_2, x_3) = D_{F,G}(x_1, x_2, x_3)$$
  $(x_1, x_2, x_3 \in I)$ 

holds if and only if there exist constants  $\alpha$ ,  $\beta$ ,  $\gamma$ ,  $\delta$  with  $\alpha\delta - \beta\gamma \neq 0$  such that for all  $x \in I$ 

(15) 
$$f''(x) = \alpha F''(x) + \beta G''(x)$$
$$g''(x) = \gamma F''(x) + \delta G''(x)$$

is satisfied.

Since (15) implies (2) it follows that if two Cauchy means are equal for n = 3 variables then they are equal for  $n \ge 3$  variables too (provided that conditions (i)–(iii) of Theorem 1 and Theorem 2 are satisfied).

If two Cauchy means are equal for n = 3 variables then they are equal for n = 2 variables as well if we assume the additional conditions

$$\begin{cases} f'(c) = \alpha F'(c) + \beta G'(c) \\ g'(c) = \gamma F'(c) + \delta G'(c) \end{cases}$$

at some point  $c \in I$  (and the existence of the two variable Cauchy means). Namely these, together with (15) ensure the validity of (2) (hence also (1)) for n = 2.

#### References

- G. AUMANN and O. HAUPT, Einführung in die reelle Analysis, Band II, W. de Gruyter, Berlin, New York, 1979.
- [2] E. LEACH and M. SHOLANDER, Multi-variable extended mean values, J. Math. Anal. Appl. 104 (1984), 390–407.
- [3] L. LOSONCZI, Equality of two variable weighted means: reduction to differential equations, *Aequationes Math.* **58** (1999), 223–241.
- [4] Zs. PÁLES, Notes on mean value theorems, (manuscript).
- [5] ZS. PÁLES, A unified form of the classical mean value theorems, Inequalities and Applications (R. P. Agarwal, ed.), World Scientific Publ., Singapore, New Jersey, London, Hong Kong, 1994, 493–500.
- [6] J. RÄTZ and D. RUSSELL, An extremal problem related to probability, Aequationes Math. 34 (1987), 316–324.
- [7] L. SCHUMAKER, Spline functions, Wiley, New York, Toronto, 1981.
- [8] J. F. STEFFENSON, Interpolation, 2nd edn, Chelsea, New York, 1950.

LÁSZLÓ LOSONCZI DEPARTMENT OF MATHEMATICS AND COMPUTER SCIENCE KUWAIT UNIVERSITY P.O. BOX 5969 SAFAT, 13060 KUWAIT

 ${\it E-mail: losonczi@math-1.sci.kuniv.edu.kw}$ 

(Received September 22, 1999; revised February 17, 2000)